Match _ Kelso v Carlton Date 6" June 2010 * Captain
Venue __ Kelso Toss Kelso Result Carlton won by 10 wickets + Wicket keeper
Innings of Kelso
No Name How out Bowler Runs Bowler (0] M R W
1] 1Sim Bowled Irvine Hess 8 Neil Irvine-Hess 4 2 9 2
2 | R Taylor Bowled Currie* 2 Gair Currie* 4 2 3 1
3 | M Henderson Caught Everett+ Irvine Hess 1 Cheeky Gosain 2 1 5 2
4 | T Galbraith Run out (Simpson) 0 lain Martin 4 2 6 3
5 | G Taylor Caught Rittoo Goaain 0 Haris Aslam 21 2 1
6 | L Baird Caught Brown Martin 5
7 | R Harperson Bowled Martin 0
8 | G Davidson Lbw Martin 0
9 | R Thomson Caught Martin Gosain 0
10 | D Richards Stumped Everett+ Aslam 3
11 | R Palmer Not out 0
Batsmen Total 20 B, LB, Pen & run outs 3 1
| Extras [ B1 LB 2 w4 NB | Pen 7 16.1 |9 27 |10
Total | For 10  wickets | in 16.1 overs | 27 Totals
Fall of wickets | 1 2 3 4 5 6 7 8 9 10
No Bat out 1 2 4 3 6 7 5 9 8 10
Total 10 13 14 14 19 19 19 19 22 27
Innings of Carlton
No Name How out Bowler Runs Bowler (6] M R W
1 | Will Brown Not out 15
2 | Tobyn Fitch-Rabbitt Not out 5 R Taylor 1 8
3 | Rory Simpson T Galbraith 1 15
4 | Gair Currie* | Sim 0.5 5
5 | Craig Everett+
6 | Neil Irvine-Hess
7 | Fraser Allardice
8 | lain Martin
9 | Gavin Rittoo
10 | Cheeky Gosain
11 | Haris Aslam
Batsmen Total 20 B, LB, Pen & run outs
| Extras [ B LB IE NB | Pen 8
Total | For 0 wickets in 25 overs 28 Totals | 2.5 28
Fall of wickets | 1 2 3 4 5 6 7 8 9 10 Notes
No Bat out
Total
Umpires Scorers Captain
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